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ACCOUNTING - CLUTCH

CH. 7 - RECEIVABLES AND INVESTMENTS



CONCEPT: TYPES OF RECEIVABLES 

 

● Receivables are _______________ that represent money owed to the company 

□ Accounts Receivable – amounts owed to the company from _______________ 

  

On April 1, the company sells $12,000 worth of goods on account to a customer. 
 
Journal Entry:  
 
 

Assets 
 
 

= Liabilities + Equity 

□ Notes Receivable – amounts owed to the company, generally from customers, but with _______________ 

 - A Note Receivable is a formal written _____________ with stated terms 

  

On April 1, the company sells $12,000 worth of goods to a customer. On April 30, the customer calls to let the company 
know that she will not be able to pay on time. She offers a 90-day, 6% note in the same amount. Principal and interest are 
due upon maturity of the note. 
 
Journal Entry:  
 
 

Assets 
 
 

= Liabilities + Equity 

□ Interest Receivable – interest that has been ______________, but not _______________ yet 

□ Dividend Receivable – dividend that has been _____________, but not _______________ yet 

● Trade Receivables are receivables that arise through the normal course of business 

□ Generally, trade receivables include ________________ and some __________________ from customers 

● Non-trade Receivables are receivables that do not arise through the normal course of business 

□ Cash Advances to Employees – short-term loan to an employee 

□ Loans to other companies 
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CONCEPT: DIRECT WRITE-OFF METHOD 

● When we allow customers to pay us later, there’s a chance we will ____________ get paid 

□ Bad Debt Expense – _______________ that result from extending credit, but not getting paid 

□ Direct Write-off Method takes bad debt expense when the company decides it will not be able to collect 

 - The direct write-off method is __________________!!! 

 - It is easy to use and acceptable for small companies that rarely have bad debt. 

 - This method does not follow the ________________ principle 

Year 1  Credit Sales 
 
 
 
 

February Year 2  Deemed uncollectible by the company  

 

EXAMPLE:  
  

A company sold items on account to three customers: Quick Quinn owes $150, Slow Joe owes $350, and Sketchy Jack 
owes $500. Quinn paid after two days. Joe paid after six weeks. Sketchy Jack has still not paid and the company has lost 
contact with Jack. The company deemed his account uncollectible. Journalize these transactions. 
 
Sale Transactions 
Quinn:              Slow Joe:              Sketchy Jack: 
 
 
 
 
 
Payment Transactions 
Quinn:              Slow Joe:              Sketchy Jack: 
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CONCEPT: NET RECEIVABLES – ALLOWANCE FOR DOUBTFUL ACCOUNTS 

● ___________ requires the creation of an allowance account to conform with the _______________ principle. 

□ Bad Debt Expense – ______________ that result from extending credit, but not getting paid 

□ Allowance for Doubtful Accounts – a _________________ account paired with ________________ 

 - The Allowance is an _______________ of bad debt in our accounts receivable 

Year 1  Credit Sales 
 
 
 
 
 

February Year 2  Deemed uncollectible by the company 
 
 

  - There are two ways to calculate bad debt expense using the allowance method: 

1. Percentage-of-Sales Method – Bad debt expense is estimated as a percentage of ___________ sales 

> In this method, you calculate bad debt expense and then find the ending balance in the allowance 

2. Aging-of-Receivables Method – Ending balance in ADA is estimated based on the _________ of each receivable 

> In this method, you calculate the ending balance in the allowance and then find bad debt expense 

EXAMPLE:  
  

A company regularly sells items on account. Currently, accounts receivable total $12,000. However, the company estimates 
that $800 of this amount is uncollectible. Record the journal entry to create the allowance. 
 
Journal Entry:  
 
 
 

Assets 
 
 

= Liabilities + Equity 

 

 

𝑁𝑒𝑡 𝐴𝑐𝑐𝑜𝑢𝑛𝑡𝑠 𝑅𝑒𝑐𝑒𝑖𝑣𝑎𝑏𝑙𝑒 = 𝐺𝑟𝑜𝑠𝑠 𝐴𝑐𝑐𝑜𝑢𝑛𝑡𝑠 𝑅𝑒𝑐𝑒𝑖𝑣𝑎𝑏𝑙𝑒 − 𝐴𝑙𝑙𝑜𝑤𝑎𝑛𝑐𝑒 𝑓𝑜𝑟 𝐷𝑜𝑢𝑏𝑡𝑓𝑢𝑙 𝐴𝑐𝑐𝑜𝑢𝑛𝑡𝑠 
 

 

T-accounts for AR and ADA 
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CONCEPT: NET RECEIVABLES – PERCENTAGE OF SALES METHOD 

● In this method, we estimate a percentage-of-___________-sales that will be uncollectible. This is bad debt expense. 

□ This is considered an _______________________ approach 

□ An exam question will typically give you a percentage of credit sales  this is ________________________ 

□ We can use the BASE formula to find the ending balance in the allowance: 

 

𝐵𝐵 𝐴𝑙𝑙𝑜𝑤𝑎𝑛𝑐𝑒 + 𝐵𝑎𝑑 𝐷𝑒𝑏𝑡 𝐸𝑥𝑝𝑒𝑛𝑠𝑒 − 𝐴𝑐𝑐𝑜𝑢𝑛𝑡𝑠 𝑊𝑟𝑖𝑡𝑡𝑒𝑛 𝑂𝑓𝑓 = 𝐸𝐵 𝐴𝑙𝑙𝑜𝑤𝑎𝑛𝑐𝑒 
 

 

EXAMPLE: A company had credit sales totaling $1,500,000 this year. The company has a policy estimating 2% of credit 

sales to be uncollectible. The Allowance for Doubtful Accounts has a current credit balance of $12,000. What is the journal 

entry to record this year’s bad debt expense? What is the ending balance in the Allowance for Doubtful Accounts? 

 

 

 

 

 

PRACTICE: A company had credit sales totaling $2,000,000 this year. The company has a policy estimating 1.5% of credit 

sales to be uncollectible. The Allowance for Doubtful Accounts has a current debit balance of $2,000. What is the journal 

entry to record this year’s bad debt expense? What is the ending balance in the Allowance for Doubtful Accounts? 
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CONCEPT: NET RECEIVABLES – AGING OF RECEIVABLES METHOD 

● In this method, we estimate the amount of uncollectible accounts in the ___________ balance of AR based on ________ 

□ This is considered a _____________________ approach 

□ An exam question will typically give you an aging schedule  use this is to calculate _____________________ 

 - Easier exam questions will tell you the results of the aging schedule  this is _____________________ 

□ We can use the BASE formula to find the bad debt expense: 

 

𝐵𝐵 𝐴𝑙𝑙𝑜𝑤𝑎𝑛𝑐𝑒 + 𝐵𝑎𝑑 𝐷𝑒𝑏𝑡 𝐸𝑥𝑝𝑒𝑛𝑠𝑒 − 𝐴𝑐𝑐𝑜𝑢𝑛𝑡𝑠 𝑊𝑟𝑖𝑡𝑡𝑒𝑛 𝑂𝑓𝑓 = 𝐸𝐵 𝐴𝑙𝑙𝑜𝑤𝑎𝑛𝑐𝑒 
 

 

EXAMPLE: A company has gross accounts receivable totaling $100,000. The company estimates the allowance for 

doubtful accounts based on the following table. If the allowance for doubtful accounts has a credit balance of $1,000, what 

is the entry to record this year’s bad debt expense? 

Age Amount 
Percent 

Uncollectible 

1-30 Days $45,000 1% 

31-60 Days $25,000 3% 

61-90 Days $20,000 5% 

91+ Days $10,000 20% 

 

 

PRACTICE: A company has gross accounts receivable totaling $150,000. The company uses the aging-of-receivables 

method to estimate the allowance for doubtful accounts. The company estimates that the amount of uncollectible 

receivables will be $3,600. Currently, the allowance for doubtful accounts has a debit balance of $800. What is the journal 

entry to record this year’s bad debt expense? 
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